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Psychology

Paper II

HEAAITEH
goatent 11

Time Allowed : 75 Minutes]
Note : This Paper contains Fifty (50) multiple choice questions, each question

[Maximum Marks : 100

carrying Two (2) marks. Attempt All questions.

U SRd. @d U Wi

GOl : A TRAULThd THY U (50) gl TEd fonl STed. Uoieh TR g (2)

While computing inter-item
correlations in an ability test, which
one of the following should be
preferred ?

(A) Biserial correlation

(B) Phi correlation

(C) Point biserial correlation

(D) Spearman rank order
correlation

The vagus nerve does not regulate

this function :

(A) Taste

(B) Laryngeal control

(C) Neck sensations

(D) Hearing

In classical conditioning learning is

evident when a :

(A) Stimulus automatically
produces a response without a
prior history of experiences

(B) Stimulus which did not initially
produce a response now elicits
that response

(C) Spontaneously emitted
responses increase in frequency
as a result of its consequences

(D) Subjects repeat an action they
have observed in another if
praised for it

&THAT ATAI=AT ATF-GIATHETA
HeHaY HIedl JEieush! 6 arRE ?
(A) fgooft Hegay

(B) ™I TR

(C) fog fgafmr wewey

(D) feastd=n TomrIHy TEgey

RIH AT ® YEATh! RIS
e e TR ?

(A) =d

(B) s s

(C) AMd oA

(D) &

;lz?rm AT, s1eer e foed
(A) STavarEl YRfYe sfaerd @am
SEIeh I Taauul STfshan

HLl

(B) Sl gk Feawdien Tfhan
g;ﬁ-\ QTR Tadl, STl /IS TRl

(C) URoTar=n 9RuTsh A Scehd Ul
oo ST STfsRar= aRe
IS

(D) SR HdT et T Yok 3ax fahrof
a0 el Fdl {=RI-772]
h{drd
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Question Nos. 4 to 8 :

In the following questions, each

question has two statements —

Assertion (A) and Reason (R). Read
each question carefully and decide
whether Assertion and Reason are
individually correct or not, and if
they are correct, whether the
Reason is a valid explanation of the
Assertion. For each question, before
the corresponding question number,
indicate your answer using the

following codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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Assertion (A) :

Studies have shown that continued

conflict deteriorates
health.

physical

Reason (R) :

A frequent outcome of prolonged
stress is the production of gastric

ulcers.
Assertion (A) :

Those personality theorists who
follow factor analytic methodology
and want to focus on second-order
factors do not rotate first-order

factors by oblique rotation methods.
Reason (R) :

Oblique rotations give correlated

factors.
Assertion (A) :

While computing the scale values of
attitude items by the method of
equal appearing intervals, median
is usually employed as a measure

of scale value.
Reason (R) :

The distribution of categories
assigned to several items is not

normal.

4.
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faem (A)

FATIR 38 foqd 1 waqan qus
IR A farerefer.

T (R)
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Assertion (A) :

Dopamine release is triggered in
addictions at the time a dose is

expected but omitted.
Reason (R) :

Dopamine system responds to the

unpredictability of rewards.
Assertion (A) :

It is difficult to assess creativity in
traditional personnel selection tests
using multiple choice questions
(MCQ) format.

Reason (R) :

Creativity is related to intelligence

but not with personality.

Instructions for questions 9 to 13 :

Read the following paragraph and

answer the five questions that follow :

Paragraph : A researcher in
psychology of stress hypothesized
that the stress would adversely
affect the performance on mental
tasks. One hundred and fifty
subjects, 75 boys and 75 girls,
studying in the twelfth standard, in
the age range of 17 to 19 years were
employed in the study. All the
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S TLET SR <.
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IR J¥T SO TR ShHar]
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subjects were in the IQ range of 85
to 115. Three groups of equal size
were formed by random assignment.
Group I performed under high stress
condition, Group II performed under
moderate stress condition, and
Group III performed under low
stress condition. Each subject was
instructed to solve 30 simple
numerical problems in the allotted
time of 60 minutes. The mean
number of correclty solved problems
were seventeen, fifteen and thirteen
respectively. The intergroup mean
differences were statistically

significant.

The variable ‘intelligence’, in the

above study, can be labelled as :
(1) Behavioural variable

(2) Continuous variable

(3) Controlled variable

(4) Organismic variable

Choose the correct option :

(A) (1) and (3) only

(B) (2) and (3) only

(C) (1), (2) and (3) only

D) (2), (3) and (4) only
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(1) = e

(2) Fem qieed
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(A) (1) 9 (3) &

(B) (2) 9 (3) ™

(C) (1), (2) 7 (3) B

(D) (2), 3) T (4) ®d
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10. Which of the following statistical

11.

method would be suitable for
evaluating the intergroup mean

differences ?

(A) Paired samples ¢-test

(B) One-way ANOVA

(C) Two-way ANOVA

(D) Repeated measures ANOVA

Which one of the following
conclusion can be drawn on the basis

of the above study ?

(A) Researcher’s hypothesis has

been rejected

(B) Researcher’s hypothesis has

been partially accepted

(C) Researcher’s hypothesis has

been accepted

(D) Inadequate data to evaluate

researcher’s hypothesis

MAY - 13216/II—C

10. YS@UHT HIVHT ARSI T5

11.

RIS HEATe Yedlehd h0ardiel Ird
qE ?

(A) I TN I

(B) WHHNTT Weror feorgerom

(C) fgurtt w=rwr fagersm

(D) YREd |99 Y=o fogerso
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Tihd Eed

(C) WM gqH Tihd ol
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12. Match List I with List IT and select

the correct answer using the codes

given below :
List I
(Type of Variable)
(P) Independent variable
(Q) Dependent variable
(R) Controlled variable
(S) Discrete variable
List II
(Variable)
(1) Subject’s gender
(2) Subject’s education
(3) Stress level

(4) Number of numerical problems

solved by the subject
Codes :

P Q@ ® ©
A 3 @ @ @
B) @ 3 @O @
© @ 3 @ @
D) 3 @ @) (@)
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12. ey I 3nfor et 11 J= SISt e ST

@it feciedn Hehdienr=a STUR TR Il
L

Tt 1
(afteed wehm)

(P) st aRed
Q) ereeisit qie
(R) T aftercd
(S) foem uftecd

et 11
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(1) wgwre T
(2) TgE forgo
(3) T U

o
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13. Given

the
statements—an Assertion (A) and a
Reason (R). Read them and indicate

your answer using the codes given

below are two

below :

Assertion (A) : In the above
study, the
subjects have

been randomly
assigned to the

three groups.

Reason (R) : Random assign-
the

subjects enables

ment of

the experimenter
to manipulate
the independent

variable effectively.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation
of (A)

©)
(D)

(A) is true but (R) is false
(A) is false but (R) is true
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13. ¢ T IR TH fau™ (A) T T

HRU (R) fedAet ommed. &t am=1

@A Hehd 9% Iy IO <9 :

faam (A) : I AT, T

T R 3TfEd ggd

fawfsa svang eTel.

®ROT (R) : UIHT=A AFaqga
HAedl  faureTqes
TRTRATAT TEaA
gftacaf=t  gmareeh
g Reh i
4.

Hehdieh :

(A) (A) sfor (R) =1 SR 3T1ed, {01
(R) & (A) = 3TIF TR T

-~

(B) (A) 3Tfur (R) Sl SR Ted, T

(R) T (A) & 3Tk TIRIHIU AR

(C) (A) § SRR %, g (R) § TIH
3

(D) (A) T I% T8, g (R) § R
Eid
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14.

15.

16.

Profound anterograde amnesia
results from accidental injury or

surgical removal of the :
(A) Hippocampus

(B) Hypothalamus

(C) Pituitary gland

(D) Cerebellum

Which one of the follwing problem-
solving strategies, though time

consuming guarantees solution ?
(A) Algorithm

(B) Heuristics

(C) Study of the problem in parts
(D) Trial and error

Which of the following biochemical

is central to the stress response ?
(A) GH

(B) MAO

(C) GABA

(D) ACTH

MAY - 13216/II—C

14. TR STPIe® AT & HIMA

ST STerH fha TAfhaIgRT g

ZERUITET YRUeh TR 2
(A) 3TETHH

(B) u¥=dIaTh

() g e

(D) TR

15. YElcTyeh! hIu THe faeRtor s,

TS ST T ITE Wt 7d 2
(A) erieH

(B) FerTrHt

(C) HHEIE WIET: 3T

(D) TIE-THIS

16. U STfohal SUTA ShivTcH] STCHIEATE

Tl it e ?
(A) GH

(B) MAO

(C) GABA

(D) ACTH

11
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17.

18.

A person with moderate mental
retardation has an IQ in the

following range :

(A) 20-35

(B) 35-50

(C) below 20

(D) 50-70

A busy housewife may not be happy
with the sudden arrival of guests,
but instead of showing displeasure
she may be too hospitable to them.

This defence mechanism is called :

(A) Reaction formation

(B) Displacement

(C) Compensation

(D) Projection

17.

18.

MAY - 13216/II—C

Hiee AfTHEE THeedl S 51

1 SR STl

(A) 20-35

(B) 35-50

(C) 20 =1 @reft

(D) 50-70

qEUATAT 3NIgeh  J0ATes BRI

AU St shelfad THfed el 79,

a N

R TR

TS 9 SrEedn o =0Tl
TEUER A, A1 W& IAhAE &

U ?

(A) wfafsar F=9

(B) fawema=

(C) wfagEm

(D) we&qu

12



19.

20.

A test has mean of 40 and standard

deviation of 8. If the scores are

normally distributed, what would be

the percentile rank of 48 ?

(A) 60

(B) 68

(C) 84

(D) 90

Which of the following is not a

neurotransmitter ?

(A) Acetylcholine

(B) Serotonin

(C) Dopamine

(D) Prolactin

MAY - 13216/II—C

19. TehT AEUET UL 40 d YHUT fa=ed

20.

8 3TTe. UTATehT ToraoT JHTH= ST,

48 I YTEART=

A ?

(A) 60

(B) 68

(C) 84

(D) 90

SIqHRT ORI

Wrelle A §oF IaraRseh ATEl 2

(A) THfETRIAR

(B) S+

(C) ST

(D) Wreffaed
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21. The monocular cue to distance in

22.

perspective drawings is :

(A) Linear perspective

(B) Aerial perspective

(C) Gradient texture

(D) Height in the horizontal plane

Which of the following is a correct

learning acquisition sequence ?

(A) Drive—cue—response—

reinforcement

(B) Cue—drive—response—

reinforcement

(C) Cue—response—drive—

reinforcement

(D) Drive—response—cue—

reinforcement

MAY - 13216/II—C

21. IRg™ 99 STAEES Thsd Yo

22.

HIV MR ?
(A) Y& g
(B) SfaRef™ qigsd
(C) wevUreh O

(D) fariisl THIR gs3UMTIcer =it

EATeAUehT ShIvIdT STEIFTEIR S SIe

AqE ?

(A) TEGAT—Hehd— 3TfshaT—

PEGiETU|

(B) Hehd—T=gATI— 3TIfoha—

PEGIETU|

(C) Teha— 3T haT—T=IgAT—

PEGIETU

(D) TERAI— T fohaT—Hehd—

PERIETU
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23.

24.

The working memory is markedly

affected by :

(A) Attention

(B) Motivation

(C) Emotion

(D) Interest

In Guilford’s model of problem
solving, which of the following occurs

first ?

(A) Input

(B) Filtering

(C) Cognition

(D) Production

23.

24.
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ST TR IROMH SO TS

HIOTAT ?

(A) 9™

(B) 9Yom

(C) 1

(D) oAfe=

e gRErr fawe ar=n fagan

WA hI0d GoIH FSd ?

(A) wIfEdT oy

(B) Tesull Al

(C) e

(D) UreR™
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25. Which of the following statements

regarding achievement motivation

are true ?
(1) It is a stable learned
characteristic in which

(2)

(3)

(4)

satisfaction is obtained by

striving for excellence

People with high on need for
achievement seek out situations
in which they compete with

some standard of excellence

People with high n-Ach do not
choose such tasks in which

success is unlikely

People with high n-Ach tend to
be motivated primarily by a

desire to avoid failure

Codes :

(A) (2), (3), (4) only

(B) (1), (3), (4) only

(C) (1), (2), (4) only

(D) (1), (2), (3) only

MAY - 13216/II—C

95. HUed YIUETId WITeATeTdshl hIvTdl

faum =l emRa ?

(1)

(2)

3)

(4)

HURAIRON  STeIATSIa ek T[ur-
aftree oy, SHEd SEsdAl

TRIHTSSHeS 3THE W< el

HOTE YN I=aeSIH ST el

Ay qRfEed A Hellahsed=a

TATSN T HLOATET I hiard

1 AR WG SeagSit

3R, O S L] STHYTAT 278,

T3 fersd A TEl
3R, T STIIY 20T o5 &I
A el STEa

<he
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(A)

(B)

(®))

(D)

(2), (3), (4) B

(1), (3), (4) B

(1), (2) (4)

(1), (2), (3) &
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26.

27.

Sternberg identified three kinds
of components of intelligence. They

are :

(A) Alpha components, beta

components, meta components

(B) Meta components, performance
components, ability acquisition

components

(C) Knowledge acquisition
components, skill acquisition
components, ability acquisition

components

(D) Meta components, performance

components, knowledge

acquisition components

On the Rorschach test, an M score

would be scored under :
(A) Location

(B) Determinants

(C) Content

(D) Form level

26.

27.
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o N

A Frfiaerel JigH

T e, O
1 Ueh BUN :

(A) ATHT e, fae1 ®IeHh, |

¥deh

(B) W21 T, Fdl =T, GTHA-GUEH

¥deh

(C) JE-HUEA Teh, HITeI-FUE

I, HAI-GUEA FeHh

(D) B2 =, Fdl HIH, FAA-TURH

Hdh

Tt =reviia ‘T 7 WhISR Jeieieh!
o fa9rmd Far ?

(A) SHIH
(B) fe=tfimeq
(C) HI==

(D) ®H waA
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28. A newly developed extraversion | 28 Teh afdehiad qi\g,i@m I

scale was correlated with the

extraversion scale of the Eysenck

Personality Questionnaire. The

sample size was 400. The obtained

correlation of 0.22 was found to be

significant at .01 level. This provides

evidence for :

(A) Satisfactory parallel form

reliability

(B) Unsatisfactory parallel form

reliability

(C) Satisfactory concurrent validity

(D) Unsatisfactory concurrent

validity

AIHF EATAS TSRS wfg-

HEa Thd AHed GeHeY HIeUdTd

Tl THANTEN 400 ekt Bid. Hesreie

0.22 ¥ HeHd HIfeI®hiagsedl

AU B, B JEAUR! HAA I

AR ?

(A) THIETTRTIH el ®Y
ICLELSEIR]

(B) AGHTENARTIH I &7

ICEEREIRI

(C) FHIETTRIh FHeIdt e

(D) AT h THed! ST
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29. Split brain studies are possible due | 29. Wfed HfEss A=W, ¥ AT =
to surgeries for intractable epilepsy IAfHRIFSY GYadd. & Y ©fed
which sever the : 2
(A) Superior colliculi A) ghReR m
(B) Corpus callosum (B) Hffg %o \

(C) Cingulate gyrus )

(C) fagee mw
(D) Central canal ) 5

(D) HgA FA

30. According to Biederman’s o
‘recognition by components’ theory 30. STetHT=AT ‘{HAME a9 wATHEH
of perception, edges have the SUTATIR ST W 07 &Yl
following invariant properties : AT
(1) Curvature (1) dashdl
(2) Co-termination of light shade (2) YF YHRRMET ThiAd 37
(3) Symmetry (3) HHfHdT
(4) Collinearity (4) FEXEE
Select the correct option from the AT e T A T fae
codes given below :

%2
Codes :
(A) (1), (38) T (4) Terd
(A) (1), (3) and (4) only
(B) (2), (3) 9 (4) Wer
(B) (2), (3) and (4) only
C) (1), (2) 9 (3) B
(C) (1), (2) and (3) only R
D) (1), (2) and (4) only (D) (1), (2) F (4) "
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31. Match List I with List II and select
the correct answer using the codes
given below :

List I
(Name of the Schedule)
(P) Fixed Ratio
(Q) Fixed Interval
(R) Variable Interval
(S) Variable ratio
List II
(Responses)

(1) Rat learns not to respond at the
beginning of the interval and
only starts responding towards
the end of the interval

(2) Produces slow but consistent
responding

(3) A rat will respond rapidly until
the reinforcer is delivered

(4) Produces high rate of rapid and
constant responding

Codes :

P @@ ® ©
@ 3 @1 @ @
B) @ @ @O 3
© @2 @ & @
M @1 3 @ @

MAY - 13216/II—C

31. Il I ofor 4t II sirer smfor et
fecied TehdiehT=a YR I Sl &1

I |
(ARt A ma)
(P) TR TR
(Q) Teer et
(R) 9R@cra hreradl
(S) uRedE TR
et 11
(wfaferan)

(1) YR KR AR Seieser= TE=
TR 38 ferekdl SmftT gevegeteA
uadt  sfwar I gw
Ll

(2) BB UV WA STIfRAT Tl

(3) Yoo food SEYdd SR AT

SR ERIRER
(4) stfeer o STifor feemaol srgfsRan
Sl

H@?I’I%B :

P Q@ ® ©)
@a 3 O @ @
B @ @ QO 3
© @ @ B @
O @ B @ @
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32.

33.

Which of the following statements
is correct for Craik and Lockhart

Model of memory ?

(A) Memory consists of one system

(B) Deep processing would lead to

long term forgetting

(C) There is no independent way of
distinguishing between shallow

and deep processing

(D) Central executive guides deep

processing
‘Mental Set’ means .....c.cooveueeennenn... )

(A) Arriving at conclusion without

conscious awareness

(B) Using the solution persistently

that has worked in the past

(C) Sudden realization of solution

to a problem

(D) Viewing objects in their

functional and customery way

MAY - 13216/II—C

32. % MU cfhgdeal Tdl YIEUEE]

33.

Tcierish! o faem oTegs oy ?

(A) TAHE THd IV GHET
Bl

(B) Seiepterd foqmomamdt (Sieter)

O FEh YEHR U3 IIhd

(C) S 30T TEIe TEhIOMHEA 9

FHITITETST HI0TATEl Tads |

e

(D) ENd H&RIME g a3
arfeeiE &

qEfges =9 BN

(A) ST STIHETI el

(B) Ydehleeld "gHIE IR QUL el
AR

(C) IHEY SR 3T /a0

(D) i ST Jaferd gited awehe

e

21
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34. Papez discovered the neural

35.

mechanism of emotion known as
“Papez circuit”. This involved the

connection of :

(1) Cingulate cortex
(2) Hypothalamus

(3) Reticular formation
(4) Corpus Collosum

Select the correct option from the

codes given below :
Codes :

(A) (1) and (4) only
(B) (1) and (3) only
(C) (2) and (3) only
(D) (3) and (4) only

Conscientiousness and
Agreeableness scales in the NEO-PI-

R are :

(A) Uncorrelated with Eysenck’s

psychoticism

(B) Positively correlated with

Eysenck’s psychoticism

(C) Negatively correlated with

Eysenck’s psychoticism

(D)

Uncorrelated with each other

MAY - 13216/II—C

34. UUHH el odAT Ieon g, faen

35.

T IRUY ST UM, T Jeeieh]
FHIV STIAY® FHEIOSE 3Ted ?

(1) HEfed deaeh
(2) TLUTIATLIR

(3) ST=A 9Y

(A) (1) 3mfoT (4) ek

(B) (1) 31T (3) e

(C) (2) MfUr (3) ek

(D) (3) =f0T (4) T

FHITEREEY 9 Fftgey a1 NEO-
PI-R w&fid |9 Ol ¢

(A) STEEH=a HHIfTgmEi Te-
Heifid Al

(B) sTag &w=a1  WIIHIfefagqef
YT T Tegs e 3Ted

(C) SR ®H=aT  |AHIfefazqz
UM AT edsied Ted

(D) TERRT Heqsfd e

22



36.

37.

The membrane potential in the

neuron is due to :

(A) Chlorine and zinc ions

(B) Calcium and chlorine ions
(C) Zinc and sodium ions

(D) Sodium and potassium ions

Which Gestalt principle is primarily

applied while using camouflage ?
(A) Proximity

(B) Similarity

(C) Closure

(D) Contour integration

36.

37.

MAY - 13216/II—C

JqIed fava wemge B4 ?

o~

EECIRE

(A) FAE 9

(B) *fwrm 9 Fdli= A
(C) fors 9 Gifesm mm

(D) Tifeag 9 GREY E

STHEUMET A9 SHLdHT G <hIod

T eI el Sd ?
(A) gHgar
(B) @HMM

(C) SEETqon

(D) e TehIcH I

38. Which of  the following
reinforcement schedule is the most | 38. TTAYH! YdAd HRUIHAER HIMA
resistant to extinction ? FUaHH o e 2
A) Fixed rati hedul > A
(A) Fixed ratio schedule A) fer
(B) Fixed interval schedule ) .
(B) T¥eR ShTellel ST
(C) Variable ratio schedule
(C) IRErdl TR ST
(D) Fixed interval schedule with
limited hold (D) A quramee feer e ST
23 [P.T.O.



MAY - 13216/1I1—C
39. Iy I omfor Iey 11 Irea SISl ard

39. Match List I with List IT and select

the correct answer by using the

codes given below :
List 1
(Models)
(P) Exampler Model
Q
(R)
(S) Prototype Model
List II

Associative Network Model
Attribute Model

(Features)

(1) Concepts are represented by the
nodes

(2) Concepts are understood by the
implied characteristics

(3) Concepts are represented by the
abstraction of characteristic
features

(4) Concepts are represented as
specific instances

Codes :

P Q@ R O
@A @O @ & @
B) 2 B @ @
<€ B @ @O @
O @ @O @ 3

07 et feeiean HehdiehT=aT 3TER IR
ESI3y RS | I

I |
(UTET)
(P) U= el 9r&q

(Q) UEIdHs Sl Wiy
(R) Sy 7O &g
(S) smfcEy wrEy
e 11
(afer=a)
(1) Heeuard gfaHfaa ‘Areq’ gR
B

(2) Teheudrd el TORIMU YiHAGR
B

(3) Heheudrd fafHfeE Torfimear=n
TR &

(4) faftre s doeua wfafafee
FHArd

W :
P @
@ O @ B @
B 2 B3 @ @
© 3 @ QO @
M @ @1 @ @B

R) (S
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40. Match List I with List IT and select
the correct answer using the codes
given below :

List I
(Reasoning type)

(P) Inductive

(Q) Deductive

(R) Conditional

(S) Heuristic

List II
(Examples)

(1) Deciding that a person who
wears a calculator on his belt
does not like parties

(2) If the mother smiles, then the
baby smiles; if the mother does
not smile,the baby does not
smile

(3) All cats purr. Pita purrs,
therefore Pita is a cat

(4) You know that dogs that are
foaming at the mouth and have
glazed eyes may be rabid. You
meet a dog at the street that
appears foaming at the mouth
and you conculde that dog is
rabid

Codes :

P) Q@ @) S

A QO @ 6 @

B) B @ @ @

© 2 6 1 @

D @ O B (@

MAY - 13216/II—C

40. et I 2for It 11 =30 ST e 3oy

@il feetedn Tehdishr=AT SR I Ik

o1

a1
(Iferrare yaw)

(P) fomAcHs: 9=

(Q) TmHIHe fa=m

(R) 3Torst foaR

(S)

(1)

(2)

3)

(4)

RERICl
Trdr 11
(SETE)
St ek SHHLSHT T2HTell ShaleReiel

AT, AT THRY STeed ATl 219
EUEL

IR 3¢ 8Hcll R o B, S 318
TOd Rl X desel 9d el

T TR T SR, e =i s,
A fyer AR oM

S HATAT ATl ®H 3R 3
Sled IHHGR 3ed WIS d 3
TadTeseret 3TTe 31 reTen Hifed 378,
TEAT TraTell Uk a1 feral e
qIerell ®H 38 AEA dl HIM
fodIeseien 318 3¥ Rl |

Hehdieh :

P Q@ R ©)
@ @O @2 & @
B 3 @ 2 @
© @ & @O @
D @ 1 3 @
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41. Match List I with List IT and select

the correct answer using the codes

given below :
List 1
(Thirst type/receptors)
(P) Osmotic Thirst

Q)
(R)

Osmoreceptors
Hypovelemic Thirst
(S) Baroreceptors
List II
(Mechanism)

(1) Thirst occurs when the solute
concentration of extracellular

fluid increases

(2) Thirst occurs when the intra-
vascular fluid decreases

(3) Detect the
concentration of the interastilial
fluid

changes in

(4) Detect blood pressure
Codes :
P Q@ R O
A O @ G @
B) 2 B @ @
© o 6 @ @
O @ 2 @O 3

MAY - 13216/II—C

41. ISt I 27for It 11 It Siret oran 1for

et feciedn Hehdiehr=a STUR AR 3l
a1 e

et 1
(TR /)
(P) sifgHre® qo
(Q) TRIHTURIE
(R) BEUIgcIHIh ol
(S) Wt
It 11

CEWD)

(1) Sl Hiele ThaAThIUMHes Sedueia
gATHES 9T BId  dogl
SILEE

(2) STegT TRITAHT g SHHT Bl deal qol
EILER!

(3) TEUEICIA TAME ThAThLOTIA
STl Hig

(4) TRCEMET Al B
W :
P) @
A 1 @ 6 @
B) 2 G @ @
€ @1 B3 @ @
D @ 2 @O 3

R) (S
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42.

43.

Research on heritability of

intelligence suggests that :

(A) heritability is more important
for achievement than for

cognitive abilities

(B) The effects of common

environment and specific
environment count for very
little on the variability in

achievement scores

(C) Common environment has the

most important influence on

achievement scores

(D) Common environment is the
most important influence on

cognitive scores

Which of the following tests

simultaneously assess the

personality disorders and the

validity of respondents answers ?
(A) MPI

(B) MCMI and MMPI

(C) MBTI and MPI

(D) NEO-PI-R and MBTI

42.

43.

MAY - 13216/11—C
i GHRA SR TR Teied i
EXGECI I

(A) IWTHeTAl & SufTe  eTHardet

U S Hexa=l 3T9d

(B) g g o fafyrse afEer am=n

GUes UTAlehTdidl J=Rud TRt

T gReme fegar

(C) T\ URav=T HUE Yr<ieho]
e, aeoig o feaa

(D) TE= gREwmEn sefaeh grdieher]
Ao gure fedar

GeATE hIvT ATEU] TehToed! SHTokaI<d

o o8N

foghdi™ Hodehd hiard o Saddl aud

(a

<@l qaEdd ?

(A) TH.UL.S.
(B) TH.E.UH.3TF. 301 TH.TH. . 3.
(C) TA.S.A.3T. A TH. L.,

(D) THeN-dt.3Tg-3TR. 71 WH..3.

3.
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44. Match List I with List IT and select

the correct answer using the codes

given below :
List I
(Test)
(P) EPQ-R
(Q) NEO-PI-3
(R) EPPS
(S) STAI
List II
(Trait/Dimension Assessed)
(1) Openness to experience
(2) State anxiety
(3) Psychoticism
(4) Achievement need
Codes :
P Q @R O
A @O 3 @ @
B) 3 @1 @ @
© Q1 3 @ @
M 3 1 @ 2

MAY - 13216/II—C

44, ISt 1 i ot I1 A= Sieen o

arfor T wielt feded Wehdrsr=a
YR T SR ;A ¢

EICU |
(sr=ri)
(P) EPQ-R
(Q) NEO-PI-3
(R) EPPS
(S) STAI
et 11
(arfha TquTaTyTSES/3MTETH)
(1) Openness to experience
(2) State anxiety
(3) Psychoticism
(4) Achievement need
Hehdieh :
P @ ® )
A @ 3 @ @
B 3 @1 @ @
1V 6 @ @
M B 1 @ @)
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45.

46.

Experimental evidence for
subliminal perception can be

provided by :

(A) Increase in sales of subliminally

advertised products

(B) Failure to report conscious

awareness of stimulus

(C) Ability to make accurate forced
choice decisions above chance

level

(D) Use of event related potentials

(ERPs)

What were the measures of
conditioned response (CR) in

Pavlovian conditioning experiment ?
(A) Response amplitude

(B) Response novelty

(C) Response latency

(D) Response recovery

45.

46.

MAY - 13216/II—C

SHErHTHIT HeleHTel WEIfTeh SMUR Yeie

o

N
Heg bl :

-
Aenl}

(A) AIHHEE Ygdi SIeld el

& fawia aed

(B) SEIUshI= Ue edre HTOITE
SRR N |
(C) ei-Tere 91 aae- T9emae S

T arg foiE Sl arEan

o N e

goee Tl

[

N
S i<l

(D) R ICEE

Yogcllegeal SAMEY Yarmg Tfyygeia

STfRI= A9 IO BRA 2

(A) ST IATTHR

(B) 3Tfshan for=

(C) 3rifran gwil

(D) 3Tfshar AT
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47.

48.

A person has a plan to do several
tasks during the next week, e.g. to
write a letter, consult a doctor, read
a book etc. What type of memory he

has to be engaged in ?
(A) Episodic

(B) Procedural

(C) Autobiographical
(D) Prospective

List the typical stages of creative

thinking in the correct order.

(A) Preparation, incubation,
verification, orientation and

illumination

(B) Verification, illumination,

incubation, orientation and

preparation

(C) Orientation, preparation,
illumination, incubation and
verification

(D) Orientation, preparation,

incubation, illumination and

vertification

47.

48.

MAY - 13216/II—C

Th KM Jeid HedSdld 3Teh hiH

o N

ENERICIRERISE

Tergion, SfaetRl Foa =, g =l

$ol e, Sal. UH

3. I HIUCH] YR ST A 3T

bl ?

(A) 9TEfTHR

(B) hTATGIToIoaeh

(C) SATHARATHSR

(D) Hfer=aTcAsh

AT faaRufshameie <oRI=n ol
EZ B It

(A) qaTA, SFAAHIT0, TSATSU,

MA@ 3o geasedl

(B) dedlesult, F¥Asedl, Iq:qI0I,
sty oo gedand

(¢) stfvmgerar, gaaardt, gEosedr,
SR L 1 e X

(D) stfqerar, qaaand, sid:qism,
[eqeedl S gESdresvil
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49.

50.

The vineland social maturity scale
measures :

(A) SQ
(B) MQ
(C) PIQ
(D) VIQ

Match List I with List IT and select
the correct answer using the codes
given below :

List I
(Components)
Products

Content

P)
Q
(R)
(S)

Mental operations
Dimensions of intellect
List II
(Descriptions)

(1) Cognition, memory, evaluation,
divergent production,

convergent production
4 x 5 x 6 cube

The result of bringing some
mental ability on content

(2)
(3)

(4)

Visual, auditory, figural,
symbolic, semantic, behavioural

Codes :

(P)
A) (D)
(B) 4)
€ 3)
D) 2)

S)
(4)
1)
2)
(3)

Q
3)
(2)
4)
1)

(R)
2)
3)
1)
(4)

MAY - 13216/II—C

49. Hg<le YA HHRE Thel g A
EXGEE

50.

(A) THH,
(B) T,
(C) dh.sma.+.
(D) &35

7t 1 et =t 11 f:liull SIERIRSIC]
0T el feciean GehdishT=AT STUR AR
SISy R | B

EICUl |
(ereeh)
(P) 3cdrted
Q) ¥RTA
(R)
(S)

qEfdeh Gfsha

JfgHTd H<h
et 11
(Futa)

Hereft e

4 x5 x6 Hd

AN fouges wEl AFfgs  &THdl
eI gRomH

TR, 49U, 3Thiae, FdihIcHR,
AR, TR

Hehdich :
P)
A 1)
(B) 4)
© 3)
D) @)

(1)

(2)
3)

(4)

(R)
(2)
(3)
(1)
(4)

S)
4)
(1)
2)
3)

Q
3)
2)
4)
1)
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ROUGH WORK
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